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In situ 55. kolo / round
Začiatok riešenia: 16.11.2024 10:00 Zverejnenie riešenia: 16.11.2024 12:15

55 A

F: : 23de :
45T ()P : : 
 67F ()P :P89c
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 : :R:p()P
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:f:t: 89C 

Riešenie / Solution:

#2 (11+13)

55 B

 : 45TF: 23de
89c : : : 
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Riešenie / Solution:

#3 (11+10)

55 C

 : : : :
:f89c : 01r 
 45T :P:p()p
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 : : :P:
: 67fp: :P
F67F :c: :
45T : : : 

Riešenie / Solution:

#4 (12+10)
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In situ 55. kolo / round

55 D

 :F45T : :
: : ()Pt:c
T: : ()P 67F
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 : : :r67f
: : : : 

Riešenie / Solution:

#5 (10+11)

55 E

 : : : :
89CT: : : 
 : : 23D :
: : : : 
P: :R: :
: : : : 
 : :r: :
: 89c : : 

Riešenie / Solution:

H#5.5 0.2.1.1... (2+5)

55 F

 : : : :
: :p:P:C
P: : ()P 45T
67F 45t :r()P 
 ()P : :p:
: :R: : 
P:F()P :de:
67f :c:t89c 

Riešenie / Solution:

S#3 (9+12)
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